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Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2x10=20
@Il wifs eoas Ted wie ¢
a)  Why the following sentences are incorrect?
e Ay v Srem (2
1)  "Valour" means "Courage".
“ MR-z o “MRPREel” |
i1)  "Valour" means the same as courage.
“ TR~ =1 NG A ARG M€ O |

b) Put quotation marks in proper places and

explain.

TN TF© 5T wie 8 1l +4:
[Turn Over]

d)
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Oswold Killed Kenedy does not same as
Kenedy killed Oswold.

THAEIETY (FACE 20)] FCARCT IR (TS
SAGATACP ] TR, FLE 3 |

In what senses the word "meaning" is used in

the following sentences?

AIea AR o w2 G e IREe 2RE
1)  Smoke means fire.

QIRIEECRACIREN
i1) It is a meaningless word.

@fs @6 L2 T |

Are the following sentences self-

contradictory? Justify.

e amef & 7k 3fe e

1) A triangle is not three sided.
fage foraeE 7|

11)  The Number seven is blue.
A1© IS e |

Which of the following propositions are

analytic and which are synthetic?

A AW SR @0 R € @b Az 2
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g)

h)
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1)  All men are selfish.
HERICEEREIRG RN
i1)  He is not both honest and dishonest.

1712 8 TP TRz 7 |

Evaluate the following arguments :

e Yl e 31

1)  We have the concept of X, ... We have
the image of X.

T X-9F 479 Sz | -, Nd X-4aF
TRoq 1o+ F0e Al |

i1)  We have no concept of X, .. We cannot
define of X.

ST X-93F Qe @3, . SNl X-49
g oo oAifee |

Are all a-priori statement analytic? Discuss

in brief.

3 sf 0z 6 5 ROsa 2 0ol eI 59 |
Comment on the following :

TS iS¢

The proposition '2+2=4'" is necessarily true.

'3+3=8" A= ST |
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i)

k)

D
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Name two supporters of pragmatic theory of
truth.
Terel MEFE N[ SCed qer TN
14|

Explain the sense in which the word 'true' or

'truth' is used in the following sentences:

AIa AR lers ey F F e T 2= ?

1)  Heis a true friend.
@1 GG TGHIE 7, |

i1)  This picture is a true portrait of him.
43 B! oI ey AfeFfs |

1i1) The true meaning of 'democracy' is .......
“SSCH T AP oY T ...

iv) He is a true Indian.

(1 GG T SIS |
Distinguish between occurrent states and
dispositional states.

QoA S € AROTSREF S W& oA12FH 4 |

Give an example of definition by denotation.
AGNLETS KT @36 Twizgel i |

In what sense the word 'Know' is used in the
following sentences?

qea Amelens amr = & & o g
QAR ?
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1) Do you know how to ride a horse?

il 6 (IR ets ol ?
i1)  Can human mind know reality?
T 13 FTSIF 7051 Sl 2
n) Do you consider the following statements to
be verifiable or confirmable?
Aeoa Al i BRI S==l LSy 2
1)  Every event has a cause.
AT Ao I N |
i)  The bag contains 10 black balls and 10
white balls.
Aerbre soft St T61 @R Sofb Ml e
ez |
0) Determine whether the following statement
would pass the testability criterion:
Ao AW AT TG Ter 7 el
fefa =4
Some day there will no war.
G Gl S @el <19 I AR 1 |
2. Answer any four questions: 5x4=20
@I Hrafb o Ted wie ¢
a)  Distinguish between defining characteristics
and accompanying characteristics with the
help of examples.
FREEPIHF Al THPHS GR T2 @RI S0
A4 THZREPTE S 4 |
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b) Clearly explain if there is any distinction
between 'false' and 'meaningless'.
T’ g3 LT [y P AL ez [
=A% I |

c) What are the necessary-sufficient conditions
of having a concept?
LIell AP ACE SRS e 1S & {2

d)  Explain the relation between truth and belief.
Soyel ¢ R e 5% I 5 |

e) Explain briefly the three types of ambiguity.
AR fomeE ayferel il 4 |

f)  What are the two principal versions of
Testability Criterion of meaning? Explain any
one.
SR AT e 1o dui ot 52
@ (I G 1 9 |

3.  Answer any two questions: 10x2=20

@~ 9o 2re Tew wie ¢

a)  What does 'Coherence' mean in the context
of coherence theory of truth? Explain and
examine the theory.
AGTS] TS AGNGAM FATE 10 (@RI 2
OO Nleresshce! HeH G ARBI SICETbel 54 |
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b)

d)
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"Word-meaning does not guarantee sentence-

meaning". Explain the statement.

“QET odd T W O s W —Sfeh
R /AN

What are the necessary and sufficient

conditions for saying that S Knows that P?

‘S W& P B Qi — 92 AFH @ @I
SR @ 2% %S sj7e T I A2
What is the meaning of 'law of nature'? Explain

in this connection the distinction between

descriptive and prescriptive laws.

‘Aigfo e 1w wid e @3 epiest Iefargere
@ SEPIEF NG [ AL (s |



